ALL KERALA BHAVAN’S SCHOLARSHIP EXAMINATION 20 15-2016

CLASS: X 4
I (COMMERCE) TIME: 90 Min.

MARKS: 100
ENGLISH

1. One wbo runs away from justice or the law is called a

a) alien b) recluse c) itinesant d) fugitive
2. Cho.ose the correct antonym for the word ‘summit’.

a) inferior b) native c) base d) rare
3. Pick out the author of the poem ‘the voice of the rain’.

a) Kamala Das b) Sherly Toulson

c) Walt Whitman d) Elizabeth Jennings

4. Which of the following words is the synonym of ‘despotic’.
a) versatile b) crippling c) liberated d) tyrannical

5. Pick out the word which means the same as ‘come to terms with’.
a) agree b) accomodate  c¢) conclude d) tolerate

6. Find the antonym of the word ‘haphazard’.

a) comfort b) systematic c) indisciplined  d) logical
7. His heart attack was brought by too much stress of work.
a) on b) into c) out d) over

8. The meaning of the ‘ phrase’ inter-alia is .
a) among other things b) among enemies

c) in addition to d) between enemies
ECONOMICS
9. Those people who are moving in and out of poverty are called
a) chronic poor b) transient poor
c) non poor d) none of these

10. The responsibility of Direction and Control of Higher education is with___.
a) Government of India b) Department of Higher Education
c) University Grants Commission  d) State Government

11. Which of the following is not an element of Fiscal Reforms?

a) Taxation Reforms b) Public Expenditure Reforms
¢) Change in Interest Rate d) Control on Public Debt
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A frequency polygon is obtaine§l by _——
a) Constructing a frequency Histogram fistogram
b) Constructing a cumulative frequency Histog

c¢) Linking the midpoints from a freq
d) Using a line graph

It is best to use a census whil
a) Population is large
c) Time is limited to con

uency Histogram

¢ conducting a survey if

b) Population is sm:iu

duct the survey d) Cheaper method ig Needeq

The word statistics was used firstin_________

a) 1749 b) 1851

Expenditure on education is .

a) Wasteful b) Investment

Change in CRR is a .
a) Quantitative b) Qualitative

WTO was established in
a) 1960 b) 1992

c) 1849 d) 1790
c) Skill d) Not requireq
c) Both a) and b) d) Neither a) nor by

¢) 1963 d) 1995

BUSINESS STUDIES

VAT stands for
a) Value Addition Tax
c) Value Additional Tax

b) Voucher Additional Transfer
d) Value Added Tax

Name the type of manufacturing industry in which one material is
separated into several useful products.

a) Analytical Industry
c) Processing Industry

Centralised control in MNC'’s implies
a) Branches b) Subsidiaries

Application for approval of name of a company is to be made to

a) Government of India
b) Registrar of Companies
¢) SEBI

b) Synthetic Industry
d) Assembling Industry

control exercised by .
c) Head quarters d) Parliament

d) Government of State in which company is to be registered

Reconstruction of sick public sector units is taken up by,

a) MoFA b) MoU

ADRS are issued in ‘
a) Canada b) India

DTH services are provided by .

a) Transport companies
c) Cellular Companies

c) BIFR d) NRF
c¢) China d) U.S.A
‘b) Banks

d) None of these
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a)seB ngA'cI:‘M to withdraw money is an example of o

o Cac Commerce b) B2C Commerce
ommerce d) C2B Commerce

Nam
a) BZ;}:‘; fund needed for day to day operations of business.
%an  b) Capital ¢) Shares d) Working Capital

ACCOUNTANCY

Provision for Bad Debts is the application of which of the following
concepts and conventions.

a) Conservatism b) Dual aspect c¢) Going concern d) Materiality

Which of the following error will affects the trial balance?

a) Compensating error

b) Error of principle

c) Post.mg In wrong account on correct side but with wrong amount
d) Clerical error

Which account shows debit balance?

a) Bank loan
c) Prepaid insurance premium

b) Reserve for doubtful debts
d) None of these

A. buyer returning goods on the ground of poor quality sent a note along
with the goods stating that no payment will be made in respect of good

returned, the returned note is called
a) credit note b) refund note =~ c) debit note d) return note

Credit purchase of new plant is initially recorded in
a) Purchase Day Book b) Cash Book
d) General Journal

c) Plant a/c

Retained Earnings is also known as the part of .
d) liability

a) revenue b) owners fund c) asset
Rule of account is “debit the receiver and credit the giver”.
a) Real a/c, b) Nominal a/c  c) Personal a/c  d) None of these

Select the correct statement.
a) Fixed assets are always recorded in the books of accounts at market

value.
b) Book keeping and Accounting are the same thing.

Liabilities is a financial obligation to others.

c
) tangible objects held by the business.

d) Assets means
The example of increase of Assets and Liability is
a) Goods sold on credit b) Goods purchased on credit
c) Goods sold on cash d) None of these
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_ The power tod

Which is the largest
Q, Which1 bl BrahmaPUthra

tha received a very Pl‘estigjous
di an :
A e award: ) pajiv Gand™ sadbhav Awarg
4) Ramon Magsaysay Award

a) Gandhi peace }?nzc | .

c) Nobel peace Pri* .. petition for the State is vested in the

ecide an election P : S Saie e |
, ngh Commlssion

a) parliament
+h a single time zone?

c) High court
wi
argest COUﬂUy C) England d] India

d’sl

mich is the worl
_ Which1 b) China

a) Russia
N -n Asla?
river i c) Yangtze d) Bias

a) Ganga
. et Stadium is situated?
ot o untry Buffalo Park Cricke .
In which country b) New Zealand c) India d) Australis

a) South Africa
Bay of Bengal are usually called____.
c) Depression d) Tornadoes

b) Typhoons
ave electrical energy and to provide sufficient light. The

The tropical cyclones of
a) Hurricones

We use CFL to s
full form of CFL is .
b) Compact Filament Lamp

a) Condensed Filament Lamp
¢) Condensed Flourescent Lamp d) Compact Flourescent Lamp

LQ
The mean of four numbers a,b,c,d is 100.If c= ini
fhe mean o | ,C, If ¢=70, then mean of remaining
a) 30
) b) 85/2 c) 170/3 d) 110

Vehicle i
houseeal: ;ti;i;?ea:hbook,}l:ook as flower, flower as sweet,sweet as house
, then w i ’ !
hidden ere is the tressure of huge amount of knowledge
a) book
b
) sweet c) vehicle d) flower

respect to C,
a) northwest
b) southwe
st ¢) north
east d) southeast

Isotherm is to t
€mperature ag j
S 1Sobar ig t
0

a) atmospher
¢ b} lattimde C) o 5
win :
d) pressure

Scanned with CamScénner



47. Karim rankg
16th .
from the bottOm?from the top in a class of 49 students.What is his rank

a) 33rd

b) 34th c) 36th d) cannot be determined

48. What
number shoyld replace the question mark.

32

a) 3 b) 6 95

49. Which of the following figures represents furniture, chairs and tables.

a) b)

50. Which is the missing tile?
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TIE BREAKER

Mourad as the natural descendant of whom?

S1. Aram considered his cousin
c) John Byre d) Fetvajin

a) Zoral b) Khosrove

52. Debentures represent .
a) Fixed Capital of the Company
b) Permanent Capital of the Company
¢) Fluctuating Capital of the Company
d) Loan Capital of the Company

S3. Rent received in advance is a account.,
a) Nominal Account b) Personal Account
c) Real Account d) None of these

54. Small Scale Industries are

a) Labou.r Intensive b) Capital Intensive
c) Substitute of large industries d) None of these

S5. Sabin award is given for the conservation of

a) amphibians b) reptiles c) birds d) coral
s
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